
 4

 

 

     
 

 
 

 

MORE INFORMATION 

For care and cleaning instructions, refer to the Tropitone® Care, 
Maintenance, Safety & Warranty Information guide included with your 
furniture and available at www.tropitone.com/warranty. 

Additional care information, “How To” videos and assembly instructions 
for Tropitone Outdoor Furniture and Basta Sole shade products are also 
available at our website. 

If you have difficulty understanding any of the instructions and need 
assistance while assembling your Matrix Tables, please call Tropitone’s 
Customer Service Center at 949-951-2010. 
 
 
 
 
 
Tropitone Furniture Co., Inc. 
5 Marconi, Irvine, CA 92618 

949 951 2010 phone 
www.tropitone.com 

 

 

 
 
 

 
 
 

Part # R9T00056 
Revised: 10.25.2019 

2019 Tropitone Furniture Co., Inc. 

 1

 

 
 

Matrix KD Table  
Assembly Instructions 

 

Congratulations on the purchase of your Tropitone® Matrix KD Table.  Read 
through all steps before fastening components together.  
 

CAUTION: Do not try to lift or flip furniture components with only one 
person. Components may be heavy and awkward to handle and may 
result in injury to persons or damage to property if not lifted properly. 
Once the Table Top has been installed, use 2 persons to turn the 
assembled table over to an upright position.   
 

Tools Required 

5/32” Socket Head Wrench 

5/16” Socket Driver or Flathead 
Screwdriver 

Safety Glasses

 

Base Parts List-Coffee, Chat, 
Dining Height 

 

Base Parts List-Counter, Bar Height

(4)   Legs 

(1)  Table Top Frame  

(8)  ¼ x 7/8” Button Head Bolts  

(8)  ¼” Lock Washers   

(8,12,16) 5/8” Self Tapping Screws 
for various size tables 

 

 

(4) Legs 

(1) Table Top Frame 

(1) Center Brace 

(16) ¼ x 7/8” Button Head  Bolts 

(16)   ¼” Lock Washers 

(8,12,16) 5/8” Self Tapping Screws 
for various size tables 

 

Check that all items listed in the Parts List are in your carton.  

Prepare a smooth, non-scratch work surface (shipping carton, a tarp or pools 
towels can be used). 

 

Assembled furniture is 

heavy. Assemble at 

place of use. 



 2

Coffee, Chat, Dining Height Base Assembly 

Place Table Top Frame upside down on the prepared work surface.  Mounting Post should 
be facing upwards. 

Place one leg onto a corner mounting post aligning attachment holes in the leg to the holes 
in the mounting post.   

 

Attach leg with two bolts and two 
washers and fully tighten. Repeat for the 
remaining three legs.   

 

Check 8 bolts to ensure that all are fully 
tightened. 

 

Counter, Bar Height Base Assembly 

Place one leg onto the Cross Brace at 
mounting bracket.   

Loosely attach with two bolts and two 
washers.  Do not fully tighten at this 
point.  Repeat process until all four legs 
are loosely attached to the Cross Brace. 

 

Place Table Top Frame upside down on 
the prepared work surface.  Mounting 
poata should be facing upwards. 

With the Cross Brace attached, place 
the four legs onto the four corner 
mounting posts of the Table Top Frame.   

 

 

 

                 

 

Loosely attach each leg with two bolts 
and two washers.  Do not fully tighten 
until all four legs are attached.   

Fully tighten all bolts.  Check 16 bolts to 
ensure that all are fully tightened. 

 3

Step 1 

CAUTION: It is the assembler’s and user’s responsibility to 
confirm and install proper length screws to prevent damage 
to the Top. 

Place one screw into the Table Base. Measure the length of the 
screw threads to insure they stick up 3/8” –1/ 2”.  

x If the screw sticks up more than 1/2”, do NOT proceed. The screws are too 
long and will stick up through the Top surface. 

x If the screw sticks up less than 3/8”, do NOT proceed. The screws are too 
short and will not properly secure the Top. 

 

Step 2 

Prepare a smooth, non-scratch work surface (shipping container, a tarp or pool towels can 
be used). With two persons, place the Table Top upside down on the prepared work 
surface. With two persons, gently place the Base upside down onto the Top. 
 
 
Step 3 

Tops with Umbrella Hole 
Center the Base on the underside of the Top; sight down through the umbrella support ring 
in the Base and align it to the Top. 

 Square, Rectangular Tops: Align the Base to the corners of the Top. 

 Round Tops: Continue to step 4. 
 
Tops without Umbrella Hole 
Center the Base on the underside of the Top. 

 Square, Rectangular Tops: Align the Base to the corners of the Top. Measure 
equal distances at (4) places from the corner of the Top to the leg mount. 

 Round Tops: Measure equal distances at (4) places from the edge of the Top to 
the leg mount. 

 
 
Step 4 

Attach the Base to the Top using the supplied screws at (8), (12) or (16) places. 

NOTE: After assembling one Table, turn the Table upright. Confirm the screws have 
not penetrated up through the top surface. 

With two persons, lift the table upright while holding the Base near the (4) outermost Base 
to Top connection points. 

Check that all the screws are firmly tightened at (8), (12) or (16) places to retain the Top. 

 

 

 

 


